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These Preliminary investigations being made, we are of M, for any point between A and the point of appli-

?ﬁ)w Prepared to establish the general equation of the l—2
"€ moments. cation of P will be P Z : the reaction at B will
In Fig, 5, 1o A, B and C be three consecutive points 1
Support of a continuous beam, the spans considered z
remg, 8s shown, [, and /. R, R, and R, are the | P — and the value of M, for any point between B and
Actions at A, B and C; and 8./, 8, S/, S, S/, A

e 8re those portions of R,, R, and R, caused respec- z
tlr ely by the loads on the span to the left and thoseon | the point of application of P will be P — (,~z) ;
in? °Pan to the right ; this can be understood by exam- l
anmg the diagram. Let us call the moments at AB whence we can write the equation
the 0(? Tespectively M,, M, and M, and let us take 7 SR 1T 2
-Or; . 'a a ‘a
o Bpglll o;‘tcgordmates for the span 7, at A and for f M,z ds — f P 2y + f P—(l-2)zdz
%thferring to Eq. 5, the value of D will reduce to ° ° L * b
™0 if the points considered be two points of support, loz 23 12 2t P z (laa 2
e/ N\ s

for they are upon the same level ; we can then write =P — + Pe{— - —

2 3 2
0w, M

=} —— dz, the =} denoting that the points ! .
™~ b g p :—st(Z,?*z?)
“sidered are A and B.
o E and T are both finite quantities, we must have 1 .
Eq\ =iz M da, Substituting the value of M from f iM, rdr— — =Pz (1.2 - 22).
8

and for any number of loads

* 8) glves H
0. (=) z z?
== [:cM.dx M g+ Mb—d:c]
' l L

lc 1 c .
Similarly f M, z dx = — = Pz (I.2-2?)
§
[+} fee o
* Writing the integral sign instead of =

Substituting these values in Eq. 11, gives

0 (h a2 !
- f [xM. dz+ M,z d:c—M;—dz+Mb—dx] O=M L+ 2M (@G + &) +M %
° A L 1
' . 12 12 12 + —Z2*Pz ()
0= M, zde + M,— —M, — + M, — A
° 2 3 3 - 1
6 + —=Pz (112"
or m“ltiplying by — ;
A which is the ordinary form of the equation of the three
moments, S * and = © denoting that the summations are

0 = M ] lc .
=M, each to extend over one span from A and C respectively.
*EML N f Mz dz. [Eq.9.] Taking moments about the right hand end of I,, gives
s e 8.7, — ® Pl,-z + M, = M, tfrom which we have

l,-2 M, - M,

Pac:
tany "2 to the span 7., we can establish in a similar )
S, ==P———

Ther the following equation :—

0 = 6 l. ] la la
M2 4 ML+ — f My z dz. [Eq. 10.] Taking moments about the left hand end of the same
Adding . l. ¥ span, there results '
98. 9 and 10, gives Sp'l, — =2 Pz + M, = M, from which we have
0 = la Z M. -M
Mot oM, ) + M1, +if M, ods S =Pt
L3 A L
g pl z M. —M,
i f M, 2 dz. [Eq. 11.] Similarly S, = E° P — + —
< o l .
t . * ‘
Weightu; Suppose for an instant that there is only one loz M. - M,.
Whic produces the infinite number of mo- and S = =P —— —
lnenta To a ' lc lc
Presenteq by M, in the expression jJM, xdzx, By inspecting Fig. 5, as before stated, we can see
° that
The . l,—z . R,=S./+ 8,
Teaction at A will be P and the value . Ry=8/+8§,

N L - R.=8; + S,



